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cfr s{ frqr ffhq{ Bso

Gidt$-ir + nR d-ct 6

q{ + Et{i ffi$-< r< rs,ooo fl-a

qr6{ sr iqqrF-fr fi-fi{fi l,oo,ooo frcT

qra S frrd vr ro% cR-sd d a t qrq yqrfu

dfugr qa rrre *fid-{ zo ffifi-a cR s? fr iKR
t q-rft il

Bnqd cfr fu+fi-a{ m arrr< d zrvnr q'cft lr

t-+, s'{ + \'+. I rffr.r qRmr + ffqiur 6r tqr Rqrr

ffiq 6d r or*r, zozr e] gs Een efu sr cd, 2022 d
qfiq q{ d frs ffifud st?* s"rcrcr *:

2 qrftvrc}*st-tfflls r

Sales (2 5,000 units)

Materials

Wages

Factory overheads

4

s. q$nril.. * roffircd r

E€ yr{-c? i6r Jf,r sriffi qr G'ft ffi \-*' qtqr I Afrq, eftt
rr$ ert qr qnqq cIfi ft +qI qIEs r

(a) How does cost aocounting differ frorn financial
accounting? (5)

(b) Why are cost and financial accounts reconciled?

Explain the reasons for the difference between

costing and financial profit or loss. (10)

OR

(a) What do you mean by Cost Accounting Standards?

Why do we need cost accounting standards?

' (s)

(b) The following figures are given:
(t)

65,00,000

25,00,000

15,00,000

10,00,000

1

qT

rrrfe q] wt qIIrff

arqo'n fr arra

ntqq rqt 6r yrff{
srrctfurr{{wff
sq-oor frtrqr {ia.
3I'TEIEI AFIiT

{

84 00,000

11,2,000

44,8 0,000

2.80,000

19,6 0.000

5,60,000

8 ,00,000

P.T.O.
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As on March 31, 2022 the direct wages due and

payable amounted to t 3,20,000 and the cost of
materials estimated to be t 7,20,000.

You are required to

(i) Prepare the contract account for the year ended

on March 3l , 2022.

(ii) Show the calculation of profit to be taken to the

profit and loss account bf the year.

(iii) Show the balance sheet (relevant extracts only)
as on March 31,2022. (15)

(o-) fre fr arro *r rusu fr ilrlrd + fis enn dfrsr

(re) * erqm ffi t ?q <Eir n-f,r+ *r +a irc+ qr6{

a * frqRfur F-<ur qEd 6G l:
6ct +

qrri rsr drrrfr 25,ooo

rrs+, dr{+{ gc+, ffi a{ 7so

q{te-o qr +ffi cR s{ lBoo

qrf,6- i6r +fi n( s-cr 4

cR mrt *r< d arrr t5o

qtqr vR ffi tso

ft-e ql frnqr yR qd l,600

691 3

Office & Administration overheads 5,50,000

Selling & Distribution overheads 3,00,000

Closing stock of finished goods

( 1,200 units) 2,20,000

Closing stock of WIP 1,40,000

Goodwill w/o 3,30,000

Income Tax paid 50,000

Cost account manual states that the factory
overheads are to be recovered at 100% of Labour.

Administration overheads at l0o/o of works cost

and selling & distribution overheads @ ( l0 per

unit sold.

Prepare Statement of Reconciliation, Cost Sheet

and Profit & Loss A/c. (10)

(m) arlrd fu+t ffiq &-qr6-{ + dt &-q +dr +?

(re) arrra srh F-frq rarfr 6r ft-f,r< et' fr'qr vnr *? arrra

ft ffidrl{qr Erfr+ ffq ilr( + qr<d fr qnqr

dfrsr

P.T.O.

ztt



691 4 691

OR

A firm undertook a contract for the construction of a

large Shopping complex. The construction work started

on April 1,2021 and the following data are available

for the year ended March 31,2022:

(o.) arm fuqm {aqil t BilTor wr nrff4 +? ad arrra

fufi qrq-d d srrq$rdr d *?

1<1 ffift+r o,i*t frS.rs *

G-ff (zs,ooo r+rs{ )

(r{ff

qds

Mffis
6rd-dc *t v$rfi ffiE{
ffi st{ G-diqr ffiw
*qn crd 6r oifrc 6l-5 (1,2sq E6Eqr )

sqsr{ft qr dfurr do
gska w/o

3TT{FE"{ t T Yr;Ir;T

dFFT reIkII ftqqr{ff t t6-6I 1IIII + fr 6RTqA +
ffis{ + nc * roo% qt qra frqr orqr *r 6T{

arrr + ro9' rR errrRFr BRW d{ B-ff ft E-rr"r

ffis p < ro cfr cF-e +* zr{l

ffiftdrn, arkr q:rir ofu anr sft< arfr tqri 6r A-{rvr

*qn d1ftqr

(sca n)

65,00,000 '

2 5,00 ,000

15,00,000

'r0,00,000

5,50,000

3,00,000

2,20,000

1,40,000

3,30,000

50,000

84,00,000

l1,20,000

44,80,000

2.80,000

19,60,000

s,60,000

8,00,000

4,20,000

10,09,600

2,24,00,000

1,60,000

1,79,20,000

4,00,00,000

The firm owns a crane with an original cost of { 120

Lakhs. The residual value of this crane after five
years of life is expected to be t 20 Lakhs. Straight
line method of depreciation is used.

P.T.O.
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Materials issued to site

Architect cost

Direct wages paid

Materials returned from site

Tools hire charges

Other indirect cost

Site office costs

'Head office expenses (altocated)

Direct er;penses

Work certified

Work done but not yet certified

Progress payments received

Contract price
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(a) Distinguish between job

costing.

691 5

5 costing and contract
(5)

2 (a) Explain the accounting treatment and control of
wastages in the cost accounts. (5)

O) A S. Ltd. produces a product 'Red' using two

components X and Y. Each unit of 'Red' requires

0.4 kg of X and 0.6 kg of Y. Weekly production

varies from 350 units to 450 units averaging 400

units. Delivery period for both the components is

I to 3 weeks. The economic order quaatity for X
is 600 kg and for Y'is 1000 kg. Calculate:

(i) Re-order level of X;

(ii) Maximum level of X;

(iii) Minimum level of Y.(10 Marks)

OR

(a) What is idle time? Explain the causes leading to

idle time and its treatment in cost accounting.

(5)

(b) The following information relates to the personnel

departmenl of a factory for the month of April
2020

(b) Mr. Ahuja runs a tempo service in Delhi. He

furnishes the following parliculars of his vehicle

A:
{
25,000

750

1,800

4

1.50

1.50

1,600

8sQ

6

15,000 miles

1,00,000 miles

Charge interest @ l0o/o per annum on the cost of
the vehicle. The vehicle runs 20 kilometres per

hour on an average.

You are required to calculate cost per running

kilometre. ( 10)

Cost of vehic le

Road License fee per year

Supervisor's salary per year

Driver's wages per hour

Cost of fuel per liter

Repair per km

Garage rent per annum

Insurance premium per annum

Kilometres run per litre

Kilometres run during the year

Estimated life of vehicle

Number of workers on April l, 2020

Number of workers on April 30,2020

950.

1050

P.T.O.
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zII

ffifr{d qn-6rt yBqr e t ffir *:

1 ,ssg E6r{A 6r ird rsr offirr qT { < lo,ooo

s{ + +{Tnsr m ir{ aorEqY s,ooo

Number of workers who quit the

lactory in April. 2020

Number of workers discharged

in April 2020

Number of workers engaged rn

April 2020 (including 120 on

account of expansion scheme)

l0

l0

r40

Calculate the labour turnover rate under the

different methods. ( l0)

(o-) arrr {crfr + fu+-{ oqqn *r srqqq * fuiur fr
qrcqr dfrq r

(ra) c\ry ftEas a q--+1 x Bir y 61 3c+Ir ot+ r'+'

sflrd 'ts' t5r s nrFT q"Tar *r 'ts' fr r+6 Fs'r€

d o.a Gilqrc x *< o.o ffiqrq y d ens{.rm-dr

*fr *r sr.drtro vflrq;r 3s0 E-6rd t 4so Eq.r{fr

+ dq-d'ase E-sr{A + ft{ A*dr *r ffi- q-.61 +
G'ffi fr rstu r t 3 {qr6 *r x + fts E-6t+R-6

m& EIEA 600 ft-n *r v * fts rooo ft-m *r

wrqr d&g:

q{ * Arrl ffikd ar.rt le-{ d zr{,

qrrfi arrm

,i[q drrrd

$R+E{

arsqe +1 oFre cfrcr + IqnrdR'fr

frqrrrqr

r*q + rr{ E6EqI

srcFq 16-flT
(n-qr.ier @ I wi cfr cB-c)

3,ooo E?[T{qt- tnr qa (6r dft.r o.d

< 89,200

< 4r,500

< 16,600

3,750 {a.c

750

Ed {rgr sr
100h

[fmtrw< MTft TIT Wq{
ffire-dqgn{ft 40o/o 20Yo z0yo

wlGiTe-dqon$fi 60vo 300h 30,,h

Rn*. Ter6-{ d ffi TdR qn-*.< yfrqr 'A' qr €rdr +cR

frksr(i) x 6r T{, efi-& wq

P.T.O
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(q) *qr arrm sfu srsdge drrrd * fts rffir 6tt

(ra) +6t + ffir + od * arn ffi€ t ffiR+r
ur+ort ff rr{ *:

69t 7

qT

u-6{q {Fl-ff

*c+'

FqFr a: 60 * @ tso,dqt eR qer

Rqmb:40q?@t2owtrfrqcr

frsrrr c : 20 st @ { so sc+ vfr ter

( 6,000

(ii) x qr sfuq-aq wt;

(iii) Y ?Fr q{ { 6r

(o) Aea trc @r l? arrra fu*-+ t ff&.c v<q *r
srS s.rqR + 6Rot d ;qner *ftqr

(ra) fu<Rfra flcant Bria 2o2o q&+ + An v* oner*

+ 6rFf6 turm + ffi{ +:

r srlo eozo + "iM * F.qr 9so

30 lflftd 2o2o d ryM d ((qr loso

afta, zozo t onerqr N sre

"rRe+- 
d qqr E

orlo zozo + d-A f+ u,3 r;ft-+t' + (qr 30

wila zozo t mt ryRqi- fr (@I

(trRR +G-{r * qnsr rzo cBd) r4o

frE-q EfrA * rrc *q qrtsr qt + zrqr<r dftsr

(a) Distinguish between allocation and apportionment

of overheads. (5)

fi-{ ft{Ft + frs ffiw ftqr1sR ir-tqlB( *

cRs-{ffq iis{tw

Eqm a : {l5,ooo 5,ooo t'd + ftS

Gqm b: t3o,ooo r,soo qt d frs

Gqm c : tl2,ooo 5oo q? + frS

frffi drqreE{' 1s,sos 6r{16,ff t'd + fts < so,o00

cct

B{rs+1 6r{ fr arrn * rrqfirt q"G *t ffi 1u w
20% t t q vIR 6A + ftc qr$ frq dr+ qr+ I-€
fr rrum rt qrfr *r

3

P.T.O.
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(b) A cost centre in a factory furnishes the following
working conditions :

691 13

Opening Work in frogress

1,000 units worth t 10,800

Units introduced during the year 5,000

The following costs were incurred during the year:

Material Cost ? 89,200

Labour Cost { 41,500

Overheads t 16,600

Output transferred to next process 3,750 units

Scrapped units 750.

Normal Loss l0% of total

(sold @ Re. I per unit) iprfi

Closing Work in Progress 3,000 units

Degree
Completion

of Materials Labour Overheads

Opening WIP 40% 20% 20%
Closing WIP 60% 30% 30%

Prepare the Prgcess 'A' A/c assuming FIFO method

of stock valuation. (15)

8

Normal working week

Number of machines

Number of weekly loss of
hours on maintenance etc.

Estimated annual overheads

Estimated direct wages rate

Number of weeks worked

per year

Overheads incurred

Wages incurred

Machine hours produced

You are required to :

40 hours

l5

4 hrs. per machine

( 1,55,520

{ 3 per hour

( 15,000

? 7,000

2,200 hrs

4u

Actual results in respect of a 4-week period are :

(i) Calculate the overhead rate per machine

hour and

(ii) Calculate the amount of under or over-

. absorption of both wages and overheads.

(10)

P.T.O.
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Direct Materials { 6,000

Wages:

Department A: 60 hours @ t 30 per hour

Department B: 40 hours @ { 20 Per hour

Department C: 20 hours @ t 50 Per hour

Overheads for the three departmexts are estimated

as follows :

Variable Ovgrheads

Department A: { 15,000 for 5,000 hours

Department B: ( 30,000 for 1,500 hours

Department C: t 12,000 for 500 hours

Fixed Overheads: ( 50,000 for 10,000 working hours

You are required to calculate the cost of the job

and also calculate the price to be charged so as

to yield a profit of 20% on the selling p.rice.

( 10)

OR

691 9

OR

(a) What is Activity Based Costing? How is it
different from traditional method of overhead

costing? (5)

(b) In a manufacturing unit, overheads were recovered

at a predetermined rate of { 25 per man-day. The

total factory overhead expenses incurred and the

man-days actually wdrked were { 41.50 lakh and

t 1.50 lakh days, respectivelY.

Out of the 40,000 units produced during a period,

30,000 were sold.

On analyzing the reasons, it was found that 60

percent of the unabsorbed overheads were due to

defective planning and the rest were attributable

to increase in overhead costs.

'How would under/over absorbed overheads be

treated in cost accounts? (10)

(a,) ffiq€ + slre-{ ft faqTua 6 61, 31-61 dfrvr

(ta) cfi c.r<qfi + vn FtFlir +r ftE{frR{d 6d Rrifta*

d rga arm l:The following information relates to Process A:

P,T.O
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qrrlrq 6,T6',rff qqr6

qffi fr (@r

rtercrs fle qr q& * cr<rB*
r.5-qFT d t{qr

sTcrRR srtr6. siq{aE(

iilqrh-d e-sH lu{il Er

vfr s{ q'rt q'l+ + q<rn-'

* Frqr

a qqrr fr g-sE + tq?i i
qrRB6.qfiqrq *:

ffi{s
ru1t

qli-{ d}

69t 1l

(o,) ffiEft orntrfrt drrrd qqr l? zrs iiTia-s oifurr d
qRqF6 q-dR t ++ fuq t?

(€) c-6 frqiur F*,d q, ffiW zs wt cfr qwq-ft-{ a1

q€ furtRd a qt q(d Bqr rrqrr ta +rfr 3He lTf
sfu qrtrE I orq q-d qr+ qr+q -e-fi irir{r. { 4l.so

arce *i < Lso arre frr tr

vs orsfu + Eiirt Tflred ao,ooo Eorgd d t so,ooo

d fi-fr gtr

q,r<ui Er mcq q..{+ rR, 116 rrm rrqr fr oO yftSrn

lrq-cfrR-d ffi{s arsTi qttr{r + 6,nor t ft iq
shri.q{Er.rdtfi*unur*r

aFrr lsiitt* t qq/sfuo il-{frB-d ffiW tfir aFr6R

fr< ron fr-qr vrgrn?

(a) Distinguish between service costing and output
costing. (5)

(b) The following information has been taken from
the costing records of a company in respect of a
job :

40 II?

15

4 qe cfr {ri-{

< r,ss,520

<stqlcREer

48

t rs,000

< 7,000

2 ,200 st 6T

Ysrqq ft'qrr

qI

$rq+J zra q-t-qr i :

(i) efr cfi-{ sa + N-s qr *:rur+ mfrs Bil

(ii) c-tr$ *< sicrtW +it + 6c qr Brfun sn*qur

d ffir * rrsr+ dfuqr

4

P.T.O.


